50

S L UNBHT R DR

1 AhORENTE

(1) AoEoRE (204, B 10AFRE)
@ 4, 7, 28
@ »UBH, 6 6, 18

(2) 10¥0%&THIHE (304, B54)

® 30 @ 70
® 0 @ 0
® 100 ® 0
B) p3EOME (154, &55)
O 8 @ 6

® 3
4) rTEOE®R L EE
(204, & 08@QR%E)
@ 5%
@ HFSNDE, 2T EE (ERR)
(8) prEnERE
(154, 3EIOA, £A54)
#HE 10x2=20,
5x0=0,
3x8=24,
0x5=0
20+0+24+0=44

Bi 4LLg

2 DYE
(1) B#EoME (104, 858%%)
® 00000 )
(O00O0O0 |
(O00O0O0 |
@ RH) 15+3=5 A 5Z
(2) Bt e ®E0ME (104, &5A%E) EEIES

O 8 8 @ 0,0
(3] mEn:tE (504, &54)

0

¢l
R

© 9 @ 6
@ 6 @ 7
® 9 ® |
@ 0 0
@ 10 12

(4) mEoEAE (104, R - BA854)
(R) 84+4=2| i 21A
(8) Mk r ikt A ehd I
(104, R - EA854)
(R) 27+3=9
9+4=13
EA I13KB
(6) rigES<Y (104, RIEESA, X - BA5A%E)
B 182 RF—+V%E, SATRLET>2
Y, | ADIREIZIZHETLLY,

(R) 18+3=6 i 62

K BEFEOTEXILD

(1) MRONERE LB £ AL EhH /- RIE
(304, & I5A%E)
® I LoD AK

| |
D2y o AH[15] A \E/\/\E

[
@ (R) 15+9+6=30 %% 30A
(2) MRONERE L B £ ML EhE /- HIE
(304, &I5A%%)

@ v E— Ot
[130]m /Fﬂ\/7/# oRE

‘ \
380|M

7
A

@ () 130+90=220
380—220=160

F
380~ (130+90) =160
£ 160M
(3) MHOIERS v ¥ BE £ A I
(L0, &2087%)

O 1)
REIVa-2
TR 3% LN
287
@ (X)) 7+13=20
28—-20=8
F 213
28— (7+13)=8
i1 8%

3 sLErUEEDEE
(1) 3#r+ 347, 4iTELHTOEE (L0&, B54)

®© 345 @ 954
® 110l @ 236
® 333 ® 146
@ 5874 3082

(2) 3t S LogEon i nrer ko s
(104, &54)

O 5 @ 7
(3) 25 AE (104, & -E1854)
(X) 727+578=1305 %% 1305H

(4) 250@mE (1045, R - E1854)
(R) 512-253=259 i 259 A
(5) sE MEVOHE (104)
B +otnsd | <Y Fr-otbIntug
T. toME9-6=31c%Y 7.
(6) ME—S<Y (204, &104)

(%1 360 735
+555 +42 |
915 1156

4 85 < ZB5R8

(1) wreke) 2% (245, £84&)
O 45% @ 58m30%
® 4EER25%

(2) Bt Ko RI%E (244, £8&)
® 3\20% @ 8840%
® |18\30%

(3) »r#, HrEMoBRE
(285, &75Q@%EE]
O 60 @ I, 15
® 100 ® 1, 50

(4) BULHEMOBIR (245, B64)
O #®H @ % O BHE ©® %

51



